= A
N = 0] &F AF S & AN A
20178 = 20 A LEHSH S XIAFE I
EX: XA I}
¥ Lol=x B
Sl IOl MO X CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
=N\ 113,573,310 114,899,562 N 1,326,252
= 75,249,686
Al H] 29,473,969
Tyl 8,849,655
Lo=x =8 87,199,300 86,409,081 790,219
= 57,210,712
Al HI 21,561,978
Tl 8,426,610
THOPE= QI A& ol X & 78,880,956 78,922,385 AN41,429
= 54,699,712
AlH] 17,283,328
=yl 6,897,916
=32 X2 76,643,510 77,120,506 AN476,996
= 53,650,457
Al HI 16,095,137
24| 6,897,916
301 et A= 76,643,510 77,120,506 AN476,996
= 53,650,457
Al Hl 16,095,137
24| 6,897,916
01 M EXEE 4562 76,643,510 77,120,506 N476,996
OJl=d= 76,643,510,000& 76,643,510
= 53,650,457
Al H] 16,095,137
24 6,897,916
dZAY R34 247,958 247,958 0
Al H] 247,958
307 2Iz2to| A 247,958 247,958 0
Al H] 247,958
05 QIZ2tR E 2 247,958 247,958 0
OdzAYd R34 247,958,000 247,958
Al HI 247,958
MASE I QLA AHE 200,562 200,562 0
Al H] 200,562
307 QI2t0| & 200,562 200,562 0
Al H] 200,562
05 QIZtRES 200,562 200,562 0
OMAS THIHECl AAMHE 200,562,000& 200,562
Al H] 200,562
2ol oINS 272,000 252,900 19,100
Al Hl 272,000
301 et A= 272,000 252,900 19,100
Al HI 272,000
01 M3 EXEE 4562 272,000 252,900 19,100
OR9E oMW XN 272,000,000& 272,000
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2N

Hu: L=l ZX
S Mot el dsord & (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al'H] 272,000
LolEs JlE@MblAs AFE X 807,830 447,490 360,340
= 565,481
AlHI 242,349
307 gl2tol & 807,830 447,490 360,340
= 565,481
AlHI 242,349
05 RIZIRI & 3 807,830 447,490 360,340
OkolsEEs MHIA(DI2AMUHIA) 807,830,000 807,830
= 565,481
Al 242,349
LoSE EEAMHA HIIRE 642,038 604,806 37,232
= 449,427
AlH 192,611
307 glz2tol & 642,038 604,806 37,232
= 449,427
AlHI 192,611
05 RIZt2E = 642,038 604,806 37,232
OLss AL HIHEX
642,038,000 642,038
= 449,427
Al 192,611
CHIIJFAEA Bl A SHOEE X 4,092 24,696 A 20,604
= 2,864
AlHI 1,228
307 glz2tol & 4,092 24,696 A 20,604
= 2,864
AlHI 1,228
05 RIZtE = 4,092 24,696 A 20,604
OLolsEs MBIA(SIIIIALMBIA)
4,092,000& 4,092
= 2,864
Al 1,228
SAHL - EZEMO SSAE L MHIA(LI24H]) 40,224 19,440 20,784
= 20,112
AlHI 20,112
307 glz2+ol & 40,224 19,440 20,784
= 20,112
AlHI 20,112
05 RIZHRI & 3 40,224 19,440 20,784
OSHE SSTMY SSHELENMHA 2
& ol 40,224,000 40,224
= 20,112
AlHI 20,112
SHLQ  ZET0HO STAHLYMEIA(BUISH 12,254 2,720 9,534
H ¥ |SX2=24l)
= 6,127




2N

¥ Lol=x B
el TP QM EONE KR (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 6,127
307 glz2tol & 12,254 2,720 9,534
= 6,127
AlHI 6,127
05 RIZHRIEt 3 12,254 2,720 9,534
OSHL SSTMY SSHALBMHA F
HE4aH 2 |SAZH 12,254,000& 12,254
= 6,127
AlHI 6,127
SHLO - ESTH SSATLYMHA(DIBESY 10,488 1,307 9,181
)
= 5,244
Al 5,244
307 21201 A 10,488 1,307 9,181
2 5,244
Al 5,244
05 RIZt2IEt = 10,488 1,307 9,181
O=HLo =SHMe St L MHIA DI
22| 10,488,000& 10,488
= 5,244
Al 5,244
Lol 0S¥ 18IS HMB 4,589,534 4,434,286 155,248
= 1,731,054
Al 2,376,186
I 482,294
Lol 2 24,000 27,000 A 3,000
Al 24,000
307 21201 A 24,000 27,000 A 3,000
AlHI 24,000
11T MISRASEX 24,000 27,000 A 3,000
Okolus 24 X& 24,000,000 24,000
AlHI 24,000
Colgntel ¥ ASESKY = 3,281,900 3,281,900 0
= 1,640,950
Al 1,640,950
307 21201 A 3,281,900 3,281,900 0
= 1,640,950
Al 1,640,950
05 BIZERIE 3 3,281,900 3,281,900 0
OLQldRtel At RIS 3,281,900, 000& 3,281,900
= 1,640,950
AlHI 1,640,950
ALIGEY 29 241,940 240,200 1,740
AlHI 205,650
T Hl 36,290
307 glz2tol & 241,940 240,200 1,740
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- _ _ RE]
M- o9 (B H) - MEAY - BAS %Eﬁ HR=2
Al'H] 205,650
24l 36,290
05 QIZtR E S 241,940 240,200 1,740
OAMLUOZEE 29 241,940,000& 241,940
AlH] 205,650
Tl 36,290
A2 Witgtyl XI& 302,100 273,000 29,100
= 75,525
Al HI 151,050
24| 75,525
301 et A= 302,100 273,000 29,100
= 75,525
Al Hl 151,050
24| 75,525
01 AMFSIEXEE 4562 302,100 273,000 29,100
OZzY sS&)| sg-edl X
273,300,000& 273,300
= 68,325
AlH] 136,650
T 68,325
OZ2Y ot&D| eyl X & 28,800,000 28,800
= 7,200
Al HI 14,400
24l 7,200
dz e 234 A& 58,317 57,710 607
= 14,579
Al H] 29,159
I 14,579
301 LBt A= 58,317 57,710 607
= 14,579
Al H] 29,159
T 14,579
01 Al E & X 462 58,317 57,710 607
odz4g =3 I 43,390 1920 «7 4 & 58,317
= 14,579
AlH] 29,159
=1 14,579
2Y 29 496,740 436,962 59,778
Al Hl 286,800
24| 209,940
307 QI2t0| ™ 496,740 436,962 59,778
Al HI 286,800
24| 209,940
10 A SXNANEEHESIGHEX 496,740 436,962 59,778
OHZE 29 K& 160,000& 19200 A~ 1200 & 368,640
Al H] 184,320
I 184,320
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ3dzg gl XA 128,100, 000& 128,100
Al 102,480
I 25,620
nlss 224 23 N2 46,800 0 46,800
307 21201 A 46,800 0 46,800
10 ALSISEXAIEEE2EHEX 46,800 0 46,800
onssE 324 249 N&
150,000 267 2 x 1201 & 46,800
F=H&E F2E A2 9,600 8,750 850
AlHI 4,800
L Hl 4,800
301 et d = 9,600 8,750 850
AlHI 4,800
T Hl 4,800
01 MEIBEZE 05z 9,600 8,750 850
O=4Z& JA2Y A2 9,600,000 9,600
Al 4,800
T Hl 4,800
ZRY=slZe gy 22|k X 27,553 25,830 1,723
Al HI 13,777
I 13,776
307 21201 A 27,553 25,830 1,723
Al HI 13,777
I 13,776
11T M3 SXAISEEX 27,553 25,830 1,723
OZ2E &3 Z2 08 2l Xt BH X
27,553,000 27,553
Al 13,777
-l 13,776
I2Y 245 ALY 20,000 20,000 0
Al 20,000
307 21201 A 20,000 20,000 0
AlH 20,000
11T M3 SXASEEX 20,000 20,000 0
OoZz4 g4ds XA 20,000,000& 20,000
AlHI 20,000
dzg el 63,200 45,550 17,650
201 Let249] 3,600 1,800 1,800
02 =24l 3,600 1,800 1,800
OQHYR= & PCE=S 3,600,000& 3,600
301 et d = 9,600 8,750 850
01 MEI2EZE 406z 9,600 8,750 850
Odd 324 92 50,000 * 192K & 9,600
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AN SAAS B
¥ Lol=x B
el Lo ootgs & u8Jl8 M3 (22 &d)
= _ = s
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
401 AIEBI L 2CHEI 40,000 30,000 10,000
01 A& dl 40,000 30,000 10,000
OZ2g 2= 40,000, 000& 40,000
405 AH&tE = HI 10,000 5,000 5,000
01 ML ESFHSH 10,000 5,000 5,000
ogdzdg =3 10,000,000 10,000
Lol HFMHIA KA 17,384 17,384 0
203 R =& 3,800 3,800 0
03 Al =P RFAHI 3,800 3,800 0
okoizd gex=ad 800,000 800
OAtot==20tg SAIH2Y H2=X
800,000& 800
OMBISXIAIE SAA 2E 3 1,200, 000& 1,200
O=XANEA HEFH 1,000, 000& 1,000
301 et 4= 13,584 13,584 0
01 AMBIEZ X 0= 12,000 12,000 0
ONMAS QAN A2
1,000,000 x12& 12,000
B A =R2RIES 1,584 1,584 0
Okolge dIEX 1,584
- ESAal 6,000 1822 123 1,584
CosgAE 2 2,165,470 1,993,370 172,100
= 779,946
AlHI 1,385,524
LdZAE 2H X 497,579 448,367 49,212
= 314,705
AlHI 182,874
307 212t0l & 497,579 448,367 49,212
= 314,705
AlHI 182,874
10 A SNAIEHIS2SHIEX 497,579 448,367 49,212
OLzANE 2 497,579,000& 497,579
= 314,705
AlHI 182,874
CARAANE SALL SX=E XS 212,400 143,600 68,800
AlBI 212,400
307 glztol & 212,400 143,600 68,800
Al'HI 212,400
10 AR SAAEHES2SHIEX 212,400 143,600 68,800
O=STAE SAN SX=E
212,400,000& 212,400
AlBI 212,400
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
COANEMASH X 516,934 515,823 1,111
= 465,241
AlHI 51,693
301 gt d= 516,934 515,823 1,111
= 465,241
Al 51,693
01 Ml2ZHE 6= 516,934 515,823 1,111
OLQ=XAE AR MAHSA
516,934,000 516,934
= 465,241
AlHI 51,693
LORAANE SSAN RFES X 404,147 431,900 AN27,753
AlH 404,147
301 et A3 404,147 431,900 N27,753
Al HI 404,147
01 MI2ZE 6= 404,147 431,900 N27,753
OLNIIQUYLE SSAX 23
404,147,000 404,147
AlHI 404,147
MOt =SXAIE 298 X2 534,410 453,680 80,730
Al HI 534,410
307 21201 A 534,410 453,680 80,730
Al HI 534,410
10 M2 SXNANEHES2IHEX 534,410 453,680 80,730
O ZRAL (4H4) 2 N
409,080,000 409,080
Al 409,080
Okol=0tE2sdy 29 X3 125,330,000& 125,330
AlHI 125,330
LOoI=X =gt &5 1,563,340 1,059, 040 504,300
AlHI 516,940
T Hl 1,046,400
Lo=ia 24 495,480 495,480 0
AlHI 353,280
T Hl 142,200
307 gl & 495,480 495,480 0
Al 353,280
- Hl 142,200
05 BIZERIE 3 495,480 495,480 0
okel=xza 249 495,480,000 495,480
AlHl 353,280
I 142,200
AEMEH-AENZ 29 230,560 230,560 0
AlHI 163,660
L Hl 66,900
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A SXAS I
dM: Lo=X &
ool Lol=N QT &E CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 230,560 230,560 0
AlHI 163,660
T Hl 66,900
05 RIZHRI & 3 230,560 230,560 0
OdEAN =X 29 230,560, 000& 230,560
Al 163,660
I 66,900
CoERR MF 800,000 300,000 500,000
401 Al HIZ 2018 800,000 300,000 500,000
01 A& HI 800,000 300,000 500,000
OZghHelsA2 A 800,000,000 800,000
L=EXsd g5 N 37,300 33,000 4,300
307 21201 A 37,300 33,000 4,300
02 LAFAAFEX 14,300 10,000 4,300
oke=xsd g5 XA 10,000, 000& 10,000
Okoluwsd sl XA 4,300,000& 4,300
03 HAHMEE2HHIES 23,000 23,000 0
Olfst-elsl 24Hl X& 23,000,000& 23,000
FHAAHS K& 17,566,972 17,794,634 N 227,662
= 10,135,857
AlHI 7,297,304
- Hl 133,811
ZOHA=X S 15,439,808 15,844,870 A 405,062
= 10,075,907
Al 5,305,770
T Hl 58,131
o= (0l=) XA 1,052,593 997,020 55,573
= 736,815
Al 315,778
301 LAz 1,052,593 997,020 55,573
= 736,815
Al 315,778
01 Ml28E 6= 1,052,593 997,020 55,573
OF=¢ 1,052,593, 000& 1,052,593
= 736,815
AlHI 315,778
Zo=g(MHa s) X 496,354 583,835 A 87,481
2 347,448
AlHI 148,906
301 et d = 496,354 583,835 A87,481
2 347,448
AlHI 148,906
01 MEI2EZE+05l= 496,354 583,835 A 87,481
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A SXAS I
HE: oS X
Sol: BOHQIZK S CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O+ (X&) 496,354,000 496,354
=2 347,448
Al 148,906
ZOHQ MeE=< X2 380,000 410,000 230,000
Al 380,000
301 et a = 380,000 410,000 A 30,000
AlHI 380,000
01 MEIBZE 263 380,000 410,000 230,000
O M4 380,000,000 380,000
AlHI 380,000
Zopel ozHl K& 247,600 238,100 9,500
= 198,080
Al 49,520
301 e A3 247,600 238,100 9,500
2 198,080
Al 49,520
01 MI28E+06l= 247,600 238,100 9,500
O&Oel 2l=Hl KA 247,600,000 247,600
= 198,080
AlH 49,520
HASEe MH 2 ZAH XI& 10,764 9,880 884
= 5,382
AlHI 5,382
301 et d = 10,764 9,880 884
= 5,382
AlHI 5,382
01 MEIBEZE+05l= 10,764 9,880 884
OFZe ssH 10,764,000& 10,764
= 5,382
Al 5,382
EXI|F u= 14,805 13,375 1,430
= 11,844
I 2,961
301 et a3z 14,805 13,375 1,430
= 11,844
I 2,961
01 MEIBEE 253 14,805 13,375 1,430
OXoe Maexl+ N3 14,805, 000& 14,805
= 11,844
- Hl 2,961
ZojoILRiel NA(SXLRel) 186,384 201,972 A 15,588
= 93,192
AlHI 93,192
301 LAz 186,384 201,972 A 15,588
= 93,192
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A SXAS I
Bu: Fo)E N
chel: Zojel=x B CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
AlH 93,192
01 MEIBZE 06z 186,384 201,972 A 15,588
OXZel sXLXtel K& 186,384 ,000& 186,384
=2 93,192
AlHI 93,192
ZofeldRiel X (LeraEdRiel) 576,384 516,866 59,518
= 288,192
Al 288,192
301 et a3z 576,384 516,866 59,518
= 288,192
Al 288,192
01 AR 2Z A 53 576,384 516,866 59,518
OFHel #3301 XA 576,384,000 576,384
= 288,192
Al 288,192
oo s X& 5,520,000 5,609,224 A B9,224
= 3,864,000
Al 1,656,000
307 21201 & 5,520,000 5,609,224 A B9,224
= 3,864,000
AlHI 1,656,000
05 RIZtE = 5,520,000 5,609,224 A B9,224
oOZoe s XA 5,520,000, 000& 5,520,000
= 3,864,000
Al 1,656,000
HF2AHHolsS ASEH2 ==X& 3,000 8,000 A5,000
AlH 3,000
301 et d = 3,000 8,000 A5,000
AlH 3,000
01 AR 2& A =063 3,000 8,000 A5,000
OBAFMHOIS ABLHOIR +£X &
3,000,000 3,000
Al 3,000
ool s X (ALl 403,218 403,218 0
Al 403,218
307 21201 & 403,218 403,218 0
Al 403,218
05 RIZtE = 403,218 403,218 0
OFHel Atsl &S KA 403,218,000& 403,218
AlHI 403,218
LETHEAMEBIA BIRXH X 492,642 492,642 0
= 344,848
Al 147,794
307 @12+l & 492,642 492,642 0
= 344,848
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A SXAS I
HE: oS X
Sl HUA=X BA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 147,794
05 RIZt &= 492,642 492,642 0
OZOotEs MExz 492,642,000 492,642
2 344,848
Al 147,794
g 22 Aejadg AR 12,480 12,480 0
= 8,736
Al 3,744
307 21201 A 12,480 12,480 0
2 8.736
Al 3,744
05 RIZt2IEt = 12,480 12,480 0
OLYIMY 22 dzlag Mg
12,480,000& 12,480
2 8.736
Al 3,744
S2EA M FIHE NA(LLEO) 600 3,900 A 3,300
= 480
AlH 120
307 21201 A 600 3,900 A 3,300
= 480
Al 120
11T MISRASEX 600 3,900 A 3,300
oggae da=aAel X& 600,000& 600
= 480
AlHI 120
SZFAHQ ESHE NA(LEHMY) 1,200 1,500 A300
= 960
AlHI 240
307 21201 A 1,200 1,500 A 300
= 960
Al 240
11T M SRASE EX 1,200 1,500 A 300
OSSO BBSAQ BSUI8
1,200,000 1,200
= 960
AlHI 240
FoeAs X 5,955,814 6,253,400 A 297,586
= 4,169,070
Al 1,786,744
301 et A3z 5,955,814 6,253,400 A 297,586
= 4,169,070
Al 1,786,744
01 Mel28E 6= 5,955,814 6,253,400 A 297,586
OFfeldzg XA 5,955,814,000& 5,955,814
= 4,169,070
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A SXAS I
HE: HUKS K
Sl HUA=X BA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al'H] 1,786,744
AHYY Ht=H XA 4,800 4,800 0
= 3,360
AlHI 1,440
307 gl2tol & 4,800 4,800 0
= 3,360
AlHI 1,440
05 RIZIRI & 3 4,800 4,800 0
ORI 4,800,000& 4,800
= 3,360
Al 1,440
ZOHQOIE S¢ 2 2d=FHHdzs N2 30,000 30,000 0
301 et a = 30,000 30,000 0
01 M3IBZE+06l= 30,000 30,000 0
Osttdels & d=sXE=S 30,000,000& 30,000
HHEZe s4HE XA 5,000 10,000 A5,000
= 3,500
Al 1,500
301 et A= 5,000 10,000 A5,000
= 3,500
AlHl 1,500
01 AR 2Z A 53 5,000 10,000 A5,000
O4gZel s4HIE XA 5,000,000& 5,000
= 3,500
AlHI 1,500
HAHNE B 6,170 3,058 3,112
201 ¢er24| 5,370 2,258 3,112
01 At 22/l 5,370 2,258 3,112
OZOHQ HXt QIAASR HLHA T HI=
15,000& 205 300
OFoHel XsSIEX M= 1, 100& =3, 7000H 4,070
OF2AZM =t 100,000& =102/ 1,000
203 ¥ S =&l 800 800 0
03 AIZ=XH 2 =AY 800 800 0
OZOHeIE M YL AIZS AR 2tE 3 800,000 800
FOIXIgHo 2284 HE X3 30,000 26,000 4,000
AlHI 21,000
- Hl 9,000
307 glz2tol & 30,000 26,000 4,000
AlHI 21,000
T Hl 9,000
10 AL SXAIEEE2EH EX 30,000 26,000 4,000
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A SXAS I
HE: oS X
el ZojeI=x B CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFfeIXIgge 2243 XA
30,000,000& 30,000
AlHI 21,000
T Hl 9,000
Z=Xsd g5 N 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
02 It M AHE L 10,000 10,000 0
OFeI=Xsd g3 XA 10,000, 000& 10,000
ZOHA=TAIE XA 2,111,484 1,938,764 172,720
= 59,950
AlHI 1,991,534
4l 60,000
Foper=X2 2I X 997,666 967,666 30,000
AlHI 967,666
T Hl 30,000
307 glz2tol & 997,666 967,666 30,000
AlHI 967,666
T Hl 30,000
05 RIZHRI & 3 997,666 967,666 30,000
OFeI=Ra 2IXA 997,666,000 997,666
Al 967,666
-l 30,000
Zopel =2t BESAE 2N 357,813 271,074 86,739
Al 357,813
307 21201 A 357,813 271,074 86,739
Al 357,813
10 ALSISXAIEEE2EHEX 357,813 271,074 86,739
O&oel =2t ESAlE 23X
357,813,000& 357,813
Al 357,813
FHUSSHEIE 2EXA 373,518 365,412 8,106
Al 373,518
307 212+0 & 373,518 365,412 8.106
AlHI 373,518
10 ALSISEXAIEEE2EHEX 373,518 365,412 8,106
O 2IE 2L XA 373,518,000& 373,518
Al 373,518
ALGHT Zofel=X2 228 29 42,100 42,100 0
Al 42,100
307 21201 A 42,100 42,100 0
Al 42,100
05 RIZt2IEt = 42,100 42,100 0
OAtot= Zofel=X2 2= 249
42,100,000 42,100
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2N XA I
I FHoNE X
S HO=XAIE XA (&2 &)
SA - BB B (BA) - MEAY - BYS ofl &k o San HDE2
| Al'H] 42,100
Zofel=sIa 323 0ls e 1,000 1,000 0
Al H] 1,000
307 QI2t0| ™ 1,000 1,000 0
AlH] 1,000
05 QIZtR &2 1,000 1,000 0
O&MeI=Xa HE3)ls M 1,000, 000& 1,000
Al HI 1,000
SSHOC HNEMEHE X3 149,875 150,000 N 125
= 59,950
Al H] 89,925
307 21240 & 149,875 150,000 A125
= 59,950
Al H] 89,925
10 Al SEXAIEEE2IHIEX 149,875 150,000 N 125
OZST0HQ TYMBME X2
149,875,000& 149,875
= 59,950
Al HI 89,925
SSHMC HEgMEdeEs 29 18,000 0 18,000
Al HI 18,000
307 212+0] & 18,000 0 18,000
Al H] 18,000
10 AR SXAIEEE2IHIEX 18,000 0 18,000
Os3T&HM NFMEHNEE 29 XA
18,000,000 18,000
Al H] 18,000
ool ssEXNSE 29 X3 40,000 40,000 0
Al H] 40,000
307 QI2t0| & 40,000 40,000 0
Al H] 40,000
05 QIZtR &2 40,000 40,000 0
O sSsENE 29 40,000,000& 40,000
Al Hl 40,000
ZOHQ BXI|P 2ldyH 29 91,512 91,512 0
Al HI 91,512
307 212t0| & 91,512 91,512 0
Al H] 91,512
05 A2t E = 91,512 91,512 0
O&MAEBEI 7 cldE 2l
91,512,000& 91,512
Al HI 91,512
NS MEtME AR IJEHEEZ XA 10,000 10,000 0
Al HI 10,000
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A SXAS I
HE: HUNS N
gl FHAsAE X (el &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 10,000 10,000 0
AlHI 10,000
01 MI2EZE 06z 10,000 10,000 0
OXNEHEHH E2Z0 ANEFEHHS X
10,000, 000& 10,000
AlHI 10,000
ZO=XE2 =24 30,000 0 30,000
401 AIEHI L 20HEI 30,000 0 30,000
01 A& Hl 30,000 0 30,000
OFMH=REZ 48 d2E  30,000,000& 30,000
HAANSFHIAEH 11,000 11,000 0
IAUUOIIHE XI& 11,000 11,000 0
201 ¢er2d| 11,000 11,000 0
02 =224l 11,000 11,000 0
OYFLUOIIMEL 2ot HMI2
11,000, 000& 11,000
SEXIAMERE XA 4,680 0 4,680
SEXIA 28 A 4,680 0 4,680
201 Let24dH] 720 0 720
02 232gHl 720 0 720
OEZ XA &IEHE SAFH ME
20,000 =30 128 720
202 44l 3,960 0 3,960
01 SLHOYI 3,960 0 3,960
OXA&E &S 10,0003 #3353 x11H 123 3,960
HAHASFHNE 8,781,242 10,682,703 A 1,901,461
= 7,903,117
AlHI 614,687
T Hl 263,438
HAANSFHIAE 8,781,242 10,682,703 A 1,901,461
= 7,903,117
Al 614,687
- Hl 263,438
FH=0 8,781,242 10,682,703 A 1,901,461
= 7,903,117
Al 614,687
T Hl 263,438
301 et A=z 7,805,092 9,965,223 A 2,160,131
= 7,024,583
Al 546,356
-l 234,153
01 Ml2ZE 6= 7,805,092 9,965,223 A 2,160,131
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2N
X ZH -
L= B

el

X AbR) B
SPEES I
S EES

N HE - B9 (3H) - HEAY - BA=S ﬁlgﬁ HRE2
OF=H=2HN 7,805,092,000& 7,805,092
= 7,024,583
Al HI 546,356
Tl 234,153
403 XX SHHS K 20| & 976,150 717,480 258,670
= 878,534
Al HI 68,331
24| 29,285
02 2| 2SOUstA=2=U & AFS Y 976,150 717,480 258,670
(O YR =DNE=10:] 976,150,000 976,150
= 878,534
Al HI 68,331
T 29,285
HESHAALI (2 XA ) 25,796 13,144 12,652
Al 25,796 13,144 12,652
=23l 25,796 13,144 12,652
201 et 18,096 10,604 7,492
01 AFR 2t 2| bl 18,096 10,604 7,492
OS2 9,360,000& 9,360
OJlegesd 3| 8,736,000 8,736
203 €2 F=&d| 4,200 2,540 1,660
04 ENSIE LR =XH| 4,200 2,540 1,660
OFANSIGERFEH| 4,200,000& 4,200
405 XHA&HF S HI 3,500 0 3,500
01 XML 2 FF S| 3,500 0 3,500
O=2AD VA 3,000,000& 3,000
ogdgl& WA 500,000& 500
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